

Lee County Procurement Management PROPOSAL FORM

Company

Name:

P & T Lawn and Tractor Service, Inc.

Solicitatio n #

B170225KLC

Solicitation Name Landscape Maintenance and Mowing for DOT

Having carefully examined the "Terms and Conditions", and the "Detailed Specifications", all of which are contained herein, propose to furnish the following which meet these specifications.

<u>Ter</u>m

Multi-year and Renewals

The successful proposer shall be responsible for furnishing and delivering to the Lee County requesting Department commodity or services on an "as needed basis for a two-year (2) period or as specified in the Scope of Work as per specifications. There will be an option to extend this contract as specified in the Scope of Work or specification upon approval of both the County and the vendor at the time of the extension or renewal.

	Please include this page wit	th your sub	mission pac	kage.	
Item #	Description	Unit of Measure	Quantity	Unit Cost	Total Cost
π	Section 1	Meusure	Quantity	Onn Cost	Total Cost
A.	Summerlin/McGregor – Punta Rassa Rd to Gladiolus and Gladiolus Dr Winkler Rd. to U.S. 41				
1.	Edging	Each	21	1,200.00	\$25,200.00
2.	Mowing	Each	21	1,200.00	\$25,200,00
3.	Litter Pick up and Clean-up Grass Clippings: Curbs, Gutters, Sidewalks, etc.	Each	21	1,200.00	\$25,200.00
4.	Weeding and Weed Control	Each	21	1,200.00	\$25,200.00
5.	Disease and Insect Control, Including Ant Control	Lump Sum	1	5,985.00	\$5,985.00
6.	Tree Staking and Tree Ring Maintenance	Lump Sum	1	0.00	\$0.00
7.	Fertilization	Each	2	2,800.00	\$5,600.00
8.	Pruning				
a)	Sucker Growth and Line of Sight	Each	21	1,000.00	\$21,000.00
b)	Rejuvenation Pruning	Each	1	0.00	\$0.00
c)	Date and Paurotis Palms	Each	2	10,275.00	\$20,550.00
d)	Structural Pruning	Each	2	19,680.00	\$39,360.00
e)	Ornamental Grasses	Each	1	0.00	\$0.00
	Total for Section 1 - A				\$193,295.00
В.	Sanibel Island – Sextant to Causeway Bridge				
1.	Edging	Each	21	75.00	\$1,575.00
2.	Mowing	Each	21	250.00	\$5,250.00

3.	Litter Pick up and Clean-up Grass Clippings:	Each	21		
J.	Curbs, Gutters, Sidewalks, etc.	Each -		100.00	\$2,100.00
4.	Weeding and Weed Control	Each	21	150.00	\$3,150.00
5.	Disease and Insect Control, Including Ant Control	Lump Sum	1	2,100.00	\$2,100.00
6.	Tree Staking and Tree Ring Maintenance	Lump Sum	1	0.00	\$0.00
7.	Fertilization	Each	2	240.00	\$480.00
8.	Pruning				•
a)	Sucker Growth and Line of Sight	Each	21	75.00	\$1,575.00
b)	Rejuvenation Pruning	Each	1	0.00	\$0.00
c)	Date and Paurotis Palms	Each	2	0.00	\$0.00
d)	Structural Pruning	Each	2	0.00	\$0.00
e)	Ornamental Grasses	Each	1	70.00	\$70.00
	Total for Section 1 - B				\$16,300.00
					. ,
C.	Causeway Islands A & B (for Parks & Rec)				
1.	Edging	Each	21	0.00	\$0.00
2.	Mowing	Each	21	600.00	\$12,600.00
3.	Litter Pick up and Clean-up Grass Clippings: Curbs, Gutters, Sidewalks, etc.	Each	21	95.00	\$1,995.00
4.	Weeding and Weed Control	Each	21	150.00	\$3,150.00
5.	Disease and Insect Control, Including Ant	Lump	1		+01.00.00
	Control	Sum		500.00	\$500.00
6.	Tree Staking and Tree Ring Maintenance	Lump Sum	1	0.00	\$0.00
7.	Fertilization	Each	2	480.00	\$960.00
8.	Pruning				
a)	Sucker Growth and Line of Sight	Each	21	200.00	\$4,200.00
b)	Rejuvenation Pruning	Each	1	0.00	\$0.00
c)	Date and Paurotis Palms	Each	2	0.00	\$0.00
d)	Structural Pruning	Each	2	0.00	\$0.00
e)	Ornamental Grasses	Each	1	0.00	\$0.00
	Total for Section 1 - C				\$23,405.00
	Annual Total for Section 1 (Includes Section				
	1A, 1B and 1C)				\$233,000.00
	Section 2				
	Corkscrew Rd. U.S. 41 to east end of FDOT				
	row for I-75, Three Oaks Parkway(Corkscrew Rd. to Williams Rd.) and Imperial				
	Parkway. (Bonita Beach Rd. to Collier County Line).				
1.	Edging	Each	21	473.81	\$9,950.01
2.	Mowing	Each	21	1,900.00	\$39,900.00
3.	Litter Pick up and Clean-up Grass Clippings: Curbs, Gutters, Sidewalks, etc.	Each	21	473.81	\$9,950.01

4.	Weeding and Weed Control	Each	21	952.38	\$19,999.98
5.	Disease and Insect Control, Including Ant Control	Lump Sum	1	800.00	\$800.00
6.	Tree Staking and Tree Ring Maintenance	Lump Sum	1	0.00	\$0.00
7.	Fertilization	Each	2	800.00	\$1,600.0
8.	Pruning			000.00	φ1,000.0
a)	Sucker Growth and Line of Sight	Each	21	1,000.00	\$21,000.0
b)	Rejuvenation Pruning	Each	1	0.00	\$21,000.0 \$0.0
c)	Date and Paurotis Palms	Each	2	 	
<u>d)</u>	Structural Pruning	Each	2	450.00	\$900.0
e)	Ornamental Grasses	Each	1	8,760.00	\$17,520.0
	Annual Total for Section 2	Each	1	0.00	\$0.0
	Annual Total for Section 2				\$121,620.00
	Section 3				***************************************
	Cypress Lake Dr./Daniels Parkway (McGregor Blvd. to Six Mile Cypress) and			,	
	Plantation ext. (Colonial Blvd. to Idlewild Dr.)				
1.	Edging	Each	21	122.22	<u> </u>
2.	Mowing	Each	21	133.33	\$2,799.9
3.	Litter Pick up and Clean-up Grass Clippings:			400.00	\$8,400.0
э.	Curbs, Gutters, Sidewalks, etc.	Each	21	133.33	¢2.700.0
4.	Weeding and Weed Control	Each	21	<u> </u>	\$2,799.9
5.	Disease and Insect Control, Including Ant	Lump	1	133.33	\$2,799.9
J.	Control	Sum	1	200.00	\$200.0
6.	Tree Staking and Tree Ring Maintenance	Lump Sum	1	0.00	\$0.0
7.	Fertilization	Each	2	320.00	\$640.0
8.	Pruning			020.00	φ040.0
a)	Sucker Growth and Line of Sight	Each	21	200.00	£4 200 C
b)	Rejuvenation Pruning	Each	1	0.00	\$4,200.0
c)	Date and Paurotis Palms	Each	2	0.00	\$0.0
d)	Structural Pruning	Each	2		\$0.0
e)	Ornamental Grasses	Each	1	2,120.00	\$4,240.0
	Annual Total for Section 3	Each	<u> </u>	0.00	\$0.0
	Tamum Toma for Section 6				\$26,079.79
	Section 4				
	College Pkwy (McGregor Overpass to U.S.				
	41), Camelot Dr. (McGregor Blvd. to				
	South Pointe Blvd.), Fiesta Way, (Cypress				
	Lake Dr. to Lake McGregor Dr.), Lake				
	McGregor Dr., (McGregor Blvd. to				
	Fiesta Way), Winkler Rd. (College Pkwy to				
	Cypress Lake Dr., including one median north				
	of College Pkwy, and one median south of				
	Cypress Lake Dr., and Myerlee Country Club Blvd. (Winkler Rd. to				

	Cul De Sac) and San Marcos Ave/Vietnam Veterans Park				
1.	Edging	Each	21	200.00	\$4,200.00
2.	Mowing	Each	21	1,200.00	\$25,200.00
3.	Litter Pick up and Clean-up Grass Clippings: Curbs, Gutters, Sidewalks, etc.	Each	21	100.00	\$2,100.00
4.	Weeding and Weed Control	Each	21	100.00	\$2,100.00
5.	Disease and Insect Control, Including Ant Control	Lump Sum	1	200.00	\$200.00
6.	Tree Staking and Tree Ring Maintenance	Lump Sum	1	0.00	\$0.00
7.	Fertilization	Each	2	900.00	\$1,800.00
8.	Pruning				
a)	Sucker Growth and Line of Sight	Each	21	100.00	\$2,100.00
b)	Rejuvenation Pruning	Each	1	0.00	\$0.00
c)	Date and Paurotis Palms	Each	2	0.00	\$0.00
d)	Structural Pruning	Each	2	5,220.00	\$10,440.00
e)	Ornamental Grasses	Each	1	0.00	\$0.00
	Annual Total for Section 4				\$48,140.00
	Section 5				
A.	Cape Coral Parkway – Foot of Cape Coral Bridge to Del Prado Blvd., Del Prado Blvd Cape Coral Parkway to Hancock Bridge Parkway, Hancock Bridge Parkway - Del Prado Blvd. to S.E. 24 th Ave.				
1.	Edging	Each	21	500.00	\$10,500.00
2.	Mowing	Each	21	1,000.00	\$21,000.00
3.	Litter Pick up and Clean-up Grass Clippings: Curbs, Gutters, Sidewalks, etc.	Each	21	400.00	\$8,400.00
4.	Weeding and Weed Control	Each	21	800.00	\$16,800.00
5.	Disease and Insect Control, Including Ant Control	Lump Sum	1	3,000.00	\$3,000.00
6.	Tree Staking and Tree Ring Maintenance	Lump Sum	1	0.00	\$0.00
7.	Fertilization	Each	2	2,980.00	\$5,960.00
8.	Pruning				
a)	Sucker Growth and Line of Sight	Each	21	700.00	\$14,700.00
b)	Rejuvenation Pruning	Each	1	0.00	\$0.00
c)	Date and Paurotis Palms	Each	2	0.00	\$0.00
d)	Structural Pruning	Each	2	5,220.00	\$10,440.00
e)	Ornamental Grasses	Each	1	0.00	\$0.00
	Total for Section 5 - A				\$90,800.00

kwy. ely			
Each	21	50.00	\$1,050.00
Each	21	100.00	\$2,100.00
oings: Each	21	100100	4=,,,,,,,,
		25.00	\$525.00
Each	21	25.00	\$525.00
nt Lump Sum	1	50.00	\$50.00
e Lump Sum	1	0.00	\$0.00
Each	2	200.00	\$400.00
Each	21	20.00	\$420.00
Each	1	0.00	\$0.00
Each	2	0.00	\$0.00
Each	2	427.50	\$855.00
Each	1	0.00	\$0.00
			\$5,925.00
			\$96,725.00
nty st of			
Each	21	200.00	\$4,200.00
Each	21	1,300.00	\$27,300.00
oings: Each	21	100.00	\$2,100.00
Each	21	400.00	\$8,400.00
nt Lump Sum	1	1,000.00	\$1,000.00
ee Lump Sum	1	0.00	\$0.00
Each	2	800.00	\$1,600.00
Each	21	10.00	\$210.00
Each	1	0.00	\$0.00
Each	2	6,060.00	\$12,120.00
Each	2	0.00	\$0.00
Each	1	6,000.00	\$6,000.00
			\$62,930.00
			5,033.33

	Section 7				
	Bayshore Rd/NE Pine Island Rd. (FDOT Operations Center to Pritchett Parkway) and				
	New Post Dr. (Bayshore Rd. to end of County Maintenance sign or where private road begins.)				
1.	Edging	Each	21	493.43	\$10,362.03
2.	Mowing	Each	21	1,653.57	\$34,724.97
3.	Litter Pick up and Clean-up Grass Clippings: Curbs, Gutters, Sidewalks, etc.	Each	21	666.67	\$14,000.07
4.	Weeding and Weed Control	Each	21	493.43	\$10,362.03
5.	Disease and Insect Control, Including Ant Control	Lump Sum	1	500.00	\$500.00
6.	Tree Staking and Tree Ring Maintenance	Lump Sum	1	0.00	\$0.00
7.	Fertilization	Each	2	720.00	\$1,440.00
8.	Pruning				
a)	Sucker Growth and Line of Sight	Each	21	0.00	\$0.00
b)	Rejuvenation Pruning	Each	1	0.00	\$0.00
c)	Date and Paurotis Palms	Each	2	1,125.00	\$2,250.00
<u>d)</u>	Structural Pruning	Each	2	7,560.00	\$15,120.00
e)	Ornamental Grasses	Each	1	0.00	\$0.00
	Annual Total for Section 7				\$88,759.10
	Section 8				
	Lee Blvd. (SR82 to Williams Ave.)	177 1.	0.1	.===	
1.	Edging	Each	21	476.19	\$9,999.99
2. 3.	Mowing	Each	21 21	695.00	\$14,595.00
3.	Litter Pick up and Clean-up Grass Clippings: Curbs, Gutters, Sidewalks, etc.	Each	41	95.24	\$2,000.04
4.	Weeding and Weed Control	Each	21	123.57	\$2,594.97
5.	Disease and Insect Control, Including Ant Control	Lump Sum	1	100.00	\$100.00
6.	Tree Staking and Tree Ring Maintenance	Lump Sum	1	0.00	\$0.00
7.	Fertilization	Each	2	600.00	\$1,200.00
8.	Pruning				
a)	Sucker Growth and Line of Sight	Each	21	50.00	\$1,050.00
b)	Rejuvenation Pruning	Each	1	0.00	\$0.00
c)	Date and Paurotis Palms	Each	2	0.00	\$0.00
d)	Structural Pruning	Each	2	7,560.00	\$15,120.00
	Ornamental Grasses	Each	1	0.00	\$0.00
e)	Annual Total for Section 8				

	Section 9				
	Hancock Bridge Parkway (SE 24 th Ave./Hunter Blvd to U.S. 41), North Key Dr. (U.S. 41 to the end of County Maintenance				
	sign or where private road begins) Orange Grove Blvd. (Pondella to end of County Maintenance sign or where private road				
	begins)	E 1	0.1	70.04	04 550 04
1.	Edging	Each	21	73.81	\$1,550.01
2. 3.	Mowing	Each	21	454.76	\$9,549.96
	Litter Pick up and Clean-up Grass Clippings: Curbs, Gutters, Sidewalks, etc.	Each	21	142.86	\$3,000.06
4.	Weeding and Weed Control	Each	21	238.10	\$5,000.10
5.	Disease and Insect Control, Including Ant Control	Lump Sum	1	200.00	\$200.00
6.	Tree Staking and Tree Ring Maintenance	Lump Sum	1	0.00	\$0.00
7.	Fertilization	Each	2	140.00	\$280.00
8.	Pruning				
a)	Sucker Growth and Line of Sight	Each	21	228.57	\$4,799.97
b)	Rejuvenation Pruning	Each	1	0.00	\$0.00
c)	Date and Paurotis Palms	Each	2	0.00	\$0.00
d)	Structural Pruning	Each	2	2,610.00	\$5,220.00
e)	Ornamental Grasses	Each	1	0.00	\$0.00
	Annual Total for Section 9				\$29,600.10
	Section 10				
A.	U.S. 41 (Jamaica Bay to San Carlos Blvd.)				
1.	Edging	Each	21	500.00	\$10,500.00
2.	Mowing	Each	21	500.00	\$10,500.00
3.	Litter Pick up and Clean-up Grass Clippings: Curbs, Gutters, Sidewalks, etc.	Each	21	200.00	\$4,200.00
4.	Weeding and Weed Control	Each	21	500.00	\$10,500.00
5.	Disease and Insect Control, Including Ant Control	Lump Sum	1	3,000.00	\$3,000.00
6.	Tree Staking and Tree Ring Maintenance	Lump Sum	1	0.00	\$0.00
7.	Fertilization	Each	2	2,000.00	\$4,000.00
8.	Pruning				
a)	Sucker Growth and Line of Sight	Each	21	500.00	\$10,500.00
b)	Rejuvenation Pruning	Each	1	1,104.00	\$1,104.00
c)	Date and Paurotis Palms	Each	2	0.00	\$0.00
d)	Structural Pruning	Each	2	1,440.00	\$2,880.00
	Ornamental Grasses	Each	1	0.00	\$0.00
e)	Of namental Grasses			0.00	7

В.	U.S. 41 Boy Scout Drive to Gladiolus				
1.	Edging	Each	21	300.00	\$6,300.00
2.	Mowing	Each	21	300.00	\$6,300.00
3.	Litter Pick up and Clean-up Grass Clippings: Curbs, Gutters, Sidewalks, etc.	Each	21	100.00	\$2,100.00
4.	Weeding and Weed Control	Each	21	400.00	\$8,400.00
5.	Disease and Insect Control, Including Ant Control	Lump Sum	1	2,500.00	\$2,500.00
6.	Tree Staking and Tree Ring Maintenance	Lump Sum	1	0.00	\$0.00
7.	Fertilization	Each	2	2,000.00	\$4,000.00
8.	Pruning				
a)	Sucker Growth and Line of Sight	Each	21	500.00	\$10,500.00
b)	Rejuvenation Pruning	Each	1	170.00	\$170.00
c)	Date and Paurotis Palms	Each	2	0.00	\$0.00
d)	Structural Pruning	Each	2	2,385.00	\$4,770.00
e)	Ornamental Grasses	Each	1	0.00	\$0.00
	Total for Section 10 B				\$45,040.00
C.	U.S. 41 San Carlos Blvd. to Bonita Springs City Limits				
1.	Edging	Each	21	300.00	\$6,300.00
2.	Mowing	Each	21	500.00	\$10,500.00
3.	Litter Pick up and Clean-up Grass Clippings: Curbs, Gutters, Sidewalks, etc.	Each	21	350.00	\$7,350.00
4.	Weeding and Weed Control	Each	21	350.00	\$7,350.00
5.	Disease and Insect Control, Including Ant Control	Lump Sum	1	5,000.00	\$5,000.00
6.	Tree Staking and Tree Ring Maintenance	Lump Sum	1	0.00	\$0.00
7.	Fertilization	Each	2	1,750.00	\$3,500.00
8.	Pruning	*****			
<u>a)</u>	Sucker Growth and Line of Sight	Each	21	500.00	\$10,500.00
b)	Rejuvenation Pruning	Each	1	210.00	\$210.00
c)	Date and Paurotis Palms	Each	2	75.00	\$150.00
d)	Structural Pruning	Each	2	3,960.00	\$7,920.00
e)	Ornamental Grasses	Each	1	0.00	\$0.00
	Total for Section 10 C		· · · · · · · · · · · · · · · · · · ·		\$58,780.00
	Annual Total for Section 10 (Including Sections 10A, 10B and 10C.				\$161,004.00
	Section 11				
	Alico Rd. – East FDOT Row of Michael G. Rippe Parkway to I-75, Michael G. Rippe Parkway Berm				
1.	Edging	Each	21	500.00	\$10,500.00

2.	Mowing	Each	21	600.00	\$12,600.00
3.	Litter Pick up and Clean-up Grass Clippings: Curbs, Gutters, Sidewalks, etc.	Each	21	300.00	\$6,300.00
4.	Weeding and Weed Control	Each	21	400.00	\$8,400.00
5.	Disease and Insect Control, Including Ant Control	Lump Sum	1	2,500.00	\$2,500.00
6.	Tree Staking and Tree Ring Maintenance	Lump Sum	1	0.00	\$0.00
7.	Fertilization	Each	2	1,500.00	\$3,000.00
8.	Pruning				
a)	Sucker Growth and Line of Sight	Each	21	800.00	\$16,800.00
b)	Rejuvenation Pruning	Each	1	0.00	\$0.00
c)	Date and Paurotis Palms	Each	2	0.00	\$0.00
d)	Structural Pruning	Each	2	3,060.00	\$6,120.00
e)	Ornamental Grasses	Each	1	0.00	\$0.00
	Annual Total for Section 11				\$66,220.00
	Section 12				the description of the second
A.	Treeline Ave./Ben Hill Griffin Parkway – South of Pelican Preserve to Alico Rd				
1.	Edging	Each	21	1,800.00	\$37,800.00
2.	Mowing	Each	21	2,000.00	\$42,000.00
3.	Litter Pick up and Clean-up Grass Clippings: Curbs, Gutters, Sidewalks, etc.	Each	21	400.00	\$8,400.00
4.	Weeding and Weed Control	Each	21	200.00	\$4,200.00
5.	Disease and Insect Control, Including Ant Control	Lump Sum	1	200.00	\$200.00
6.	Tree Staking and Tree Ring Maintenance	Lump Sum	1	0.00	\$0.00
7.	Fertilization	Each	2	1,325.00	\$2,650.00
8.	Pruning				
a)	Sucker Growth and Line of Sight	Each	21	0.00	\$0.00
b)	Rejuvenation Pruning	Each	1	0.00	\$0.00
c)	Date and Paurotis Palms	Each	2	0.00	\$0.00
<u>d)</u>	Structural Pruning	Each	2	8,280.00	\$16,560.00
e)	Ornamental Grasses	Each	1	0.00	\$0.00
	Total for Section 12 - A				\$111,810.00
В.	Colonial Blvd. – Six Mile Slough to S.R. 82 (Colonial may begin approximately late 2018 at the expiration of the CIP Contract)			:	
1.	Edging	Each	21	200.00	\$4,200.00
2.	Mowing	Each	21	600.00	\$12,600.00
3.	Litter Pick up and Clean-up Grass Clippings: Curbs, Gutters, Sidewalks, etc.	Each	21	100.00	\$2,100.00
4.	Weeding and Weed Control	Each	21	100.00	\$2,100.00

5.	Disease and Insect Control, Including Ant Control	Lump Sum	1	100.00	\$100.00
6.	Tree Staking and Tree Ring Maintenance	Lump Sum	1	0.00	\$0.00
7.	Fertilization	Each	2	625.00	\$1,250.00
8.	Pruning				
a)	Sucker Growth and Line of Sight	Each	21	0.00	\$0.00
b)	Rejuvenation Pruning	Each	1	780.00	\$780.00
c)	Date and Paurotis Palms	Each	2	270.00	\$540.00
d)	Structural Pruning	Each	2	0.00	\$0.0
e)	Ornamental Grasses	Each	1	400.00	\$400.00
	Total for Section 12 - B				\$24,070.00
	Annual Total for Section 12 (Includes Section 12 A & 12 B)				\$135,880.00
	Section 13 Business 41 Littleton Road to State Road 78, Edison Bridge and U.S. 41 Caloosahatchee				
	River to Littleton Road				
1.	Edging	Each	21	400.00	\$8,400.00
2.	Mowing	Each	21	1,400.00	\$29,400.00
3.	Litter Pick up and Clean-up Grass Clippings: Curbs, Gutters, Sidewalks, etc.	Each	21	200.00	\$4,200.00
4.	Weeding and Weed Control	Each	21	200.00	\$4,200.00
5.	Disease and Insect Control, Including Ant Control	Lump Sum	1	5,000.00	\$5,000.00
6.	Tree Staking and Tree Ring Maintenance	Lump Sum	1	0.00	\$0.00
7.	Fertilization	Each	2	2,000.00	\$4,000.00
8.	Pruning				
a)	Sucker Growth and Line of Sight	Each	21	400.00	\$8,400.00
b)	Rejuvenation Pruning	Each	1	0.00	\$0.00
c)	Date and Paurotis Palms	Each	2	3,600.00	\$7,200.00
d)	Structural Pruning	Each	2	1,935.00	\$3,870.00
	Annual Total for Section 13				\$74,670.00
	Section 14				
	Bonita Beach Rd. King's Kew/Forester to End of County Maintenance sign or where private road begins. Imperial Parkway from Bonita Beach Rd. to Northern limit of Collier County.				
1.	Edging	Each	21	1,000.00	\$21,000.00
2.	Mowing	Each	21	1,700.00	\$35,700.00
3.	Litter Pick up and Clean-up Grass Clippings: Curbs, Gutters, Sidewalks, etc.	Each	21	400.00	\$8,400.00
4.	Weeding and Weed Control	Each	21	500.00	\$10,500.00

5.	Disease and Insect Control, Including Ant Control	Lump Sum	1	2,500.00	\$2,500.00
6.	Tree Staking and Tree Ring Maintenance	Lump Sum	1	0.00	\$0.00
7.	Fertilization	Each	2	1,400.00	\$2,800.00
8.	Pruning			1,,,,,,,,,,,	, , , , , , , , , , , , , , , , , , , ,
a)	Sucker Growth and Line of Sight	Each	21	200.00	\$4,200.00
b)	Rejuvenation Pruning	Each	1	0.00	\$0.00
c)	Date and Paurotis Palms	Each	2	375.00	\$750.00
d)	Structural Pruning	Each	2	3,015.00	\$6,030.00
<u>e)</u>	Ornamental Grasses	Each	1	0.00	\$0.00
	Annual Total for Section 14				\$91,880.00
	Section 15				
Α.	Daniels Parkway, Six Mile Cypress to East of				
	Gateway Blvd. (excluding unlandscaped FDOT row), Gunnery Rd., Lee Blvd. to one median South of S.R. 82				
1.	Edging	Each	21	400.00	\$8,400.00
2.	Mowing	Each	21	2,000.00	\$42,000.00
3.	Litter Pick up and Clean-up Grass Clippings: Curbs, Gutters, Sidewalks, etc.	Each	21	200.00	\$4,200.00
4.	Weeding and Weed Control	Each	21	400.00	\$8,400.00
5.	Disease and Insect Control, Including Ant Control	Lump Sum	1	2,500.00	\$2,500.00
6.	Tree Staking and Tree Ring Maintenance	Lump Sum	1	0.00	\$0.00
7.	Fertilization	Each	2	2,020.00	\$4,040.00
8.	Pruning				
a)	Sucker Growth and Line of Sight	Each	21	200.00	\$4,200.00
b)	Rejuvenation Pruning	Each	1	0.00	\$0.00
c)	Date and Paurotis Palms	Each	2	3,150.00	\$6,300.00
d)	Structural Pruning	Each	2	7,695.00	\$15,390.00
e)	Ornamental Grasses	Each	1	0.00	\$0.00
	Total for Section 15 - A				\$95,430.00
В.	Roundabouts at the intersections of Crystal Drive and Plantation Rd (beginning approximately fall of 2018)				
1.	Edging	Each	21	50.00	\$1,050.00
2.	Mowing	Each	21	25.00	\$525.00
3.	Litter Pick up and Clean-up Grass Clippings: Curbs, Gutters, Sidewalks, etc.	Each	21	25.00	\$525.00
4.	Weeding and Weed Control	Each	21	50.00	\$1,050.00
5.	Disease and Insect Control, Including Ant Control	Lump Sum	1	100.00	\$100.00

6.	Tree Staking and Tree Ring Maintenance	Lump Sum	1	0.00	\$0.00
7.	Fertilization	Each	2	75.00	\$150.00
8.	Pruning				_
a)	Sucker Growth and Line of Sight	Each	21	25.00	\$525.00
b)	Rejuvenation Pruning	Each	1	0.00	\$0.00
c)	Date and Paurotis Palms	Each	2	0.00	\$0.00
<u>d)</u>	Structural Pruning	Each	2	0.00	\$0.00
e)	Ornamental Grasses	Each	1	0.00	\$0.00
	Total for 15 - B				\$3,925.00
C.	Sunshine Blvd. & 23 rd Street SW Roundabout				
	(beginning approximately fall of 2018)				
1.	Edging	Each	21	25.00	\$525.00
2.	Mowing	Each	21	50.00	\$1,050.00
3.	Litter Pick up and Clean-up Grass Clippings:	Each	21	25.00	# 505.00
	Curbs, Gutters, Sidewalks, etc.				\$525.00
4.	Weeding and Weed Control	Each	21	50.00	\$1,050.00
5.	Disease and Insect Control, Including Ant Control	Lump Sum	1	100.00	\$100.00
6.	Tree Staking and Tree Ring Maintenance	Lump Sum	1	0.00	\$0.00
7.	Fertilization	Each	2	25.00	\$50.00
8.	Pruning				
a)	Sucker Growth and Line of Sight	Each	21	50.00	\$1,050.00
b)	Rejuvenation Pruning	Each	1	0.00	\$0.00
c)	Date and Paurotis Palms	Each	2	0.00	\$0.00
<u>d)</u>	Structural Pruning	Each	2	0.00	\$0.00
e)	Ornamental Grasses	Each	1	0.00	\$0.00
	Annual Total Section 15 - C				\$4,350.00
D.	Beth Stacey/Business Way Roundabout (beginning approximately Fall of 2018)				
1.	Edging	Each	21	50.00	\$1,050.00
2.	Mowing	Each	21	50.00	\$1,050.00
3.	Litter Pick up and Clean-up Grass Clippings: Curbs, Gutters, Sidewalks, etc.	Each	21	50.00	\$1,050.00
4.	Weeding and Weed Control	Each	21	25.00	\$525.00
5.	Disease and Insect Control, Including Ant Control	Lump Sum	1	100.00	\$100.00
6.	Tree Staking and Tree Ring Maintenance	Lump Sum	1	0.00	\$0.00
7.	Fertilization	Each	2	75.00	\$150.00
8.	Pruning				ψ,00.00
a)	Sucker Growth and Line of Sight	Each	21	25.00	\$525.00
b)	Rejuvenation Pruning	Each	1	0.00	\$0.00

c)	Date and Paurotis Palms	Each	2	0.00	\$0.00
d)	Structural Pruning	Each	2	0.00	\$0.00
e)	Ornamental Grasses	Each	1	0.00	\$0.00
	Total for Section 15 D				\$4,450.00
	Annual Total for Section 15				\$108,155.00
	(Includes Sections 15 A, 15B, 15C and 15 D)				Ψ100,100.00
	0 4 16				
	Section 16				
	SR 80 - Prospect Ave. to Hickey Creek (Cook Road)				
1.	Edging	Each	21	500.00	\$10,500.00
2.	Mowing	Each	21	2,000.00	\$42,000.00
3.	Litter Pick up and Clean-up Grass Clippings:	Each	21		
	Curbs, Gutters, Sidewalks, etc.	Luth		200.00	\$4,200.00
4.	Weeding and Weed Control	Each	21	400.00	\$8,400.00
5.	Disease and Insect Control, Including Ant	Lump	1	5,000.00	\$5,000.00
	Control	Sum		0,000.00	ΨΟ,000.00
6.	Tree Staking and Tree Ring Maintenance	Lump	1	0.00	\$0.00
7.	Fertilization	Sum Each	2	F 400 00	
8.	Pruning	Lach	<u> </u>	5,400.00	\$10,800.00
a)	Sucker Growth and Line of Sight	Each	21	1,500.00	#04 F00 00
b)	Rejuvenation Pruning	Each	1	0.00	\$31,500.00
c)	Date and Paurotis Palms	Each	2		\$0.00 \$0.00
d)	Structural Pruning	Each	2	3,700.00	
e)	Ornamental Grasses	Each	1		\$7,400.00
	Annual Total for Section 16	Laci	<u> </u>	100.00	\$100.00 \$119,900.00
	AMAGE TOWN TO SECTION TO				\$119,800.00
	Section 17				
	Veterans Parkway – Caloosahatchee River to				· · · · · · · · · · · · · · · · · · ·
	Pine Island Rd.				
1.	Edging	Each	21	500.00	\$10,500.00
2.	Mowing	Each	21	8,000.00	\$168,000.00
3.	Litter Pick up and Clean-up Grass Clippings:	Each	21	500.00	\$10,500.00
	Curbs, Gutters, Sidewalks, etc.				
4.	Weeding and Weed Control	Each	21	600.00	\$12,600.00
5.	Disease and Insect Control, Including Ant Control	Lump	1	1,000.00	\$1,000.00
6.	Tree Staking and Tree Ring Maintenance	Sum Lump	1	.,	41,000.00
0.	Tree Staking and Tree King Maintenance	Sum	1	0.00	\$0.00
7.	Fertilization	Each	2	2,500.00	\$5,000.00
8.	Pruning			, = = = =	7-1,000,00
a)	Sucker Growth and Line of Sight	Each	21	300.00	\$6,300.00
b)	Rejuvenation Pruning	Each	1	0.00	\$0.00
c)	Date and Paurotis Palms	Each	2	25.00	\$50.00
d)	Structural Pruning	Each	2	32,580.00	\$65,160.00

e)	Ornamental Grasses	Each	1	0.00	\$0.00
	Annual Total for Section 17				\$279,110.00
	Section 18				
	McGregor Blvd. and San Carlos Blvd. weekly palm frond pick up				
A.	McGregor Blvd. from North of Davis Road to Cypress Lake Dr.(Both Sides)				
	Pick up	Each	52	598.00	\$31,096.00
	Total per year for Section 18 A				\$31,096.00
В.	San Carlos Blvd. from Kelley Rd. to San Carlos Overpass (Summerlin Rd.)				
	Pick up	Each	52	442.00	\$22,984.00
·····	Total per year for Section 18 B				\$22,984.00
	Annual Total for Section 18(Includes Section 18 A and 18 B)				\$54,080.00
	Section 19		-		
A.	Three Oaks Parkway, Corkscrew Rd. to Alico Rd., Estero Parkway ext., Three Oaks Parkway to top of I-75 overpass, and roadsides from the top of I-75 overpass to Ben Hill Griffin Parkway				
1.	Edging	Each	21	400.00	\$8,400.00
2.	Mowing	Each	21	800.00	\$16,800.00
3.	Litter Pick up and Clean-up Grass Clippings: Curbs, Gutters, Sidewalks, etc.	Each	21	200.00	\$4,200.00
4.	Weeding and Weed Control	Each	21	100.00	\$2,100.00
5.	Disease and Insect Control, Including Ant Control	Lump Sum	1	500.00	\$500.00
6.	Tree Staking and Tree Ring Maintenance	Lump Sum	1	0.00	\$0.00
7.	Fertilization	Each	2	675.00	\$1,350.00
8.	Pruning				
a)	Sucker Growth and Line of Sight	Each	21	100.00	\$2,100.00
b)	Rejuvenation Pruning	Each	1	0.00	\$0.00
c)	Date and Paurotis Palms	Each	2	4,445.00	\$8,890.00
d)	Structural Pruning	Each	2	10,215.00	\$20,430.00
e)	Ornamental Grasses	Each	1	200.00	\$200.00
	Total for Section 19 - A				\$64,970.00
В.	Imperial Parkway from Bonita Bill Street to East Terry Street (may begin early 2019 at expiration of CIP Contract)				
1.	Edging	Each	21	300.00	\$6,300.00

2.	Mowing	Each	21	500.00	\$10 F00 00
3.	Litter Pick up and Clean-up Grass Clippings:	Each		500.00	\$10,500.00
٥.	Curbs, Gutters, Sidewalks, etc.	Lacn	21	100.00	\$2,100.00
4.	Weeding and Weed Control	Each	21	100.00	\$2,100.00
5.	Disease and Insect Control, Including Ant	Lump	1	250.00	\$250.00
	Control	Sum		200,00	
6.	Tree Staking and Tree Ring Maintenance	Lump Sum	1	0.00	\$0.00
7.	Fertilization	Each	2	325.00	\$650.00
8.	Pruning				
a)	Sucker Growth and Line of Sight	Each	21	0.00	\$0.00
<u>b)</u>	Rejuvenation Pruning	Each	1	0.00	\$0.00
<u>c)</u>	Date and Paurotis Palms	Each	2	0.00	\$0.00
<u>d)</u>	Structural Pruning	Each	2	855.00	\$1,710.00
e)	Ornamental Grasses	Each	1	0.00	\$0.00
	Total for Section 19– B				\$23,610.00
	Annual Total for Section 19				
	(Includes Section 19-A & 19-B)		·		\$88,580.00
	Section 20				
			········		
	Ben C. Pratt/Six Mile Cypress Parkway, Colonial Blvd. to Metro Parkway				
1.	Edging	Each	21	500.00	\$10,500.00
2.	Mowing	Each	21	 	\$42,000.00
3.	Litter Pick up and Clean-up Grass Clippings:	Each	21	2,000.00	\$42,000.00
	Curbs, Gutters, Sidewalks, etc.	2		800.00	\$16,800.00
4.	Weeding and Weed Control	Each	21	500.00	\$10,500.00
5.	Disease and Insect Control, Including Ant	Lump	1		
	Control	Sum		0.00	\$0.00
6.	Tree Staking and Tree Ring Maintenance	Lump	1	0.00	\$0.00
	77 (*** 4*	Sum			
7.	Fertilization	Each	2	1,325.00	\$2,650.00
8.	Pruning Control III Control				
a)	Sucker Growth and Line of Sight	Each	21	230.00	\$4,830.00
<u>b)</u>	Rejuvenation Pruning	Each	1	0.00	\$0.00
c) d)	Date and Paurotis Palms Structural Pruning	Each	2	0.00	\$0.00
	Ornamental Grasses	Each	2	5,400.00	\$10,800.00
<u>e)</u>	Annual Total for Section 20	Each	1	0.00	\$0.00
	Annual Total for Section 20				\$98,080.00
	Section 21				
A.	Summerlin Road, Colonial Blvd. to Boy Scout				
4 1 •	Dr., Fowler St Ext. from Colonial Blvd. to				
	U.S. 41				
1.	Edging	Each	21	100.00	\$2,100.00
2.	Mowing	Each	21	300.00	\$6,300.00

3.	Litter Pick up and Clean-up Grass Clippings: Curbs, Gutters, Sidewalks, etc.	Each	21	100.00	\$2,100.00
4.	Weeding and Weed Control	Each	21	50.00	\$1,050.00
5.	Disease and Insect Control, Including Ant Control	Lump Sum	1	400.00	\$400.00
6.	Tree Staking and Tree Ring Maintenance	Lump Sum	1	0.00	\$0.00
7.	Fertilization	Each	2	500.00	\$1,000.00
8.	Pruning				
a)	Sucker Growth and Line of Sight	Each	21	50.00	\$1,050.00
b)	Rejuvenation Pruning	Each	1	350.00	\$350.00
c)	Date and Paurotis Palms	Each	2	375.00	\$750.00
d)	Structural Pruning	Each	2	2,430.00	\$4,860.00
e)	Ornamental Grasses	Each	1	0.00	\$0.00
	Total for Section 21 - A				\$19,960.00
B.	Gladiolus Dr. from Winkler Rd.to San Carlos Blvd. and Bass Rd. from Health Park to Library entrance north of Gladiolus Dr. including County owned lot east of Library. (This portion of Gladiolus and Bass may begin approximately mid 2018 at the expiration of CIP Contract).				
1.	Edging	Each	21	200.00	\$4,200.00
2.	Mowing	Each	21	500.00	\$10,500.00
3.	Litter Pick up and Clean-up Grass Clippings: Curbs, Gutters, Sidewalks, etc.	Each	21	50.00	\$1,050.00
4.	Weeding and Weed Control	Each	21	150.00	\$3,150.00
5.	Disease and Insect Control, Including Ant Control	Lump Sum	1	500.00	\$500.00
6.	Tree Staking and Tree Ring Maintenance	Lump Sum	1	0.00	\$0.00
7.	Fertilization	Each	2	300.00	\$600.00
8.	Pruning				
a)	Sucker Growth and Line of Sight	Each	21	100.00	\$2,100.00
b)	Rejuvenation Pruning	Each	1	0.00	\$0.00
c)	Date and Paurotis Palms	Each	2	0.00	\$0.00
d)	Structural Pruning	Each	2	2,610.00	\$5,220.00
e)	Ornamental Grasses	Each	1	0.00	\$0.00
	Total for Section 21 - B				\$27,320.00
C.	Summerlin Rd. – Boy Scout Dr. to Gladiolus Dr. (This portion of Summerlin Rd. may begin approximately late 2019 at the expiration of CIP contract)				
1.	Edging	Each	21	400.00	\$8,400.00
2.	Mowing	Each	21	1,000.00	\$21,000.00

3.	Litter Pick up and Clean-up Grass Clippings:	Fach	21		* * * *
3.	Curbs, Gutters, Sidewalks, etc.	Each	21	300.00	\$6,300.00
4.	Weeding and Weed Control	Each	21	200.00	\$4,200.00
5.	Disease and Insect Control, Including Ant Control	Lump Sum	1	200.00	\$200.00
6.	Tree Staking and Tree Ring Maintenance	Lump Sum	1	0.00	\$0.00
7.	Fertilization	Each	2	525.00	\$1,050.00
8.	Pruning				
a)	Sucker Growth and Line of Sight	Each	21	200.00	\$4,200.00
b)	Rejuvenation Pruning	Each	1	0.00	\$0.00
c)	Date and Paurotis Palms	Each	2	120.00	\$240.00
d)	Structural Pruning	Each	2	3,015.00	\$6,030.00
e)	Ornamental Grasses	Each	1	0.00	\$0.00
<u> </u>	Total for Section 21 - C		-	3.00	\$51, 620.00
	Annual Total for Section 21(Including Sections 21 - A, 21 - B and 21 - C)				\$98,900.00
	Annual Total for all Sections Section 1 through Section 21				\$2,129,972.99
	Miscellaneous				
1.	Labor rate per hour for miscellaneous landscape tasks per person	Per Hour	1	55.00	\$55.00
2.	Labor rate per eight (8) hour day for miscellaneous landscape tasks per person	Per Day	1	440.00	\$440.00
3.	Labor rate per hour for weekend installation per person	Per Hour	1	75.00	\$75.00
4.	Holiday labor rate per hour per person	Per Hour	1	100.00	\$100.00
5.	Overtime labor rate per hour per person	Per Hour	1	75.00	\$75.00
6.	Replacement of plants, trees and shrubs*				
a)	Plants - 30 % of Mark up				30 %
b)	Shrubs - <u>30</u> % of Mark up				30 %
c)	Trees - 30 % of Mark up				30 %
*	Contractor shall be required to supply a copy of all receipts for plant, shrubs and trees for verification of the price to the County.				The state of the s
	Any other miscellaneous supplies that are needed pricing will be negotiated with the contractor.				

Seventy-Two Dollars, and Ninety-Nine Cents